X it B R / (B BE (AU 1B TE 9R 4R

PEEK/ST

=
—

R

a

@ ©

SRR Size (mm)

Part Number M DK
04000ST030050005 M3x5 541 293
04000ST030050006 M3x6 5.41 2.93
04000ST030030008 M3x8 5.41 293
04000ST030050010 M3x10 541 293
04000ST030050012 M3x12 5.41 2.93
04000ST030050016 M3x16 541 293
04000ST030050020 M3x20 541 293
04000ST030050025 M3x25 5.41 2.93
04000ST040070006 M4 x6 6.89 391
04000ST040070008 M4 x8 6.89 391
04000ST040070010 M4x10 6.89 391
04000ST040070012 M4x12 6.89 391
04000ST040070016 M4x16 6.89 391
04000ST040070020 M4 x20 6.89 3.91
04000ST040070025 M4 x 25 6.89 391
04000ST040070030 M4 x30 6.89 391
04000ST050080008 M5x8 8.39 491
04000ST050080010 M5x10 8.39 491
04000ST050080012 M5x12 8.39 491
04000ST050080016 M5x16 8.39 491
04000ST050080020 M5x 20 8.39 491
04000ST050080025 M5x25 8.39 491
04000ST050080030 M5x 30 8.39 491
04000ST060100008 M6x8 9.89 5.85
04000ST060100010 M6x10 9.89 5.85
04000ST060100012 M6x12 9.89 5.85
04000ST060100016 M6x16 9.89 5.85
04000ST060100020 M6x20 9.89 5.85
04000ST060100025 M6x25 9.89 5.85
04000ST060100030 M6x30 9.89 5.85
04000ST060100035 M6x35 9.89 5.85
04000ST060100040 M6 x40 9.89 5.85
04000ST060100045 M6x45 9.89 5.85
04000ST080125020 M8x20 12.87 7.82
04000ST080125025 M8x25 12.87 7.82
04000ST080125030 M8x30 12.87 7.82
04000ST080125035 M8x35 12.87 7.82
04000ST080125040 M8 x40 12.87 7.82
04000ST080125045 M8x45 12.87 7.82
04000ST080125050 M8x 50 12.87 7.82
04000ST080125060 M8x60 12.87 7.82

04000ST080125065 M8x65 12.87 7.82



	Sheet3

